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A NEW NATION
(Genesis 12:1 - 13:4)

I. The ___________ (Gen. 12:1-3)

A. The _________________: to leave his _____________ and extended _________

B. The _________________

1. Would become a ___________________________

2. Would become a ___________________________

3. Would become a ___________________________

II. The ____________ (Gen. 12:4-9)

A. The ______________________ to Canaan (12:4-5; cf. Heb. 11:8)

1. ____________ at age _______, and ____________ at age _______

2. __________, Abram’s nephew

3. ________________, _____________, and ____________________

B. The Lord __________________ to Abram at ________________ (12:6-7)

1. The Lord ___________________ Abram “this __________”

2. Abram built an _________________ there

C. Abram traveled another ____________________ to _____________ (12:8-9)

1. Built another ____________ there

2. ____________ record of Abram ________________ on __________
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III. The ______________ (Gen. 12:10-20)

A. Abram’s _____________ to ________________ (12:10)

1. God had promised to ________________ Abram in __________________

2. God had sent a ___________________ to ____________________

3. Abram ________________________ into his _______________________

B. Abram’s __________ of expediency (12:11-16)

1. ___________ for his ___________ showed a lack of _______________

2. ___________ of his ____________ showed a lack of __________

3. ___________________ for personal ___________ damaged his 

______________________

C. God’s _______________________ (12:17-20)

1. His ______________________ in Pharaoh’s household

2. His ______________________ for the _________________ to Canaan

D. The _____________ of Abram’s _________________________

1. ________________ their ___________________

2. _____________ the _________________

3. ________________ God’s __________________

IV. The ______________________ (Gen. 13:1-4)

A. Left Egypt ___________ but ________________ (13:1-2)

B. Returned to ________________ (13:3)

C. Again ______________ on the ___________ (13:4)
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